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Geometry 3312 K Cy is Thankful for
Chapter 5 Test Review { »
. FORMULAS WHICH YOU NEED TO KNOW FOR THE TEST
Sum of the Angle Formulas: Individual Angles of a REGULAR polygon:
-2)-180
Sum of Interior Angles = (n—2)-180 Each Interior Angles = (g—2) 10
Sum of Exterior Angles = 360 Each Exterior Angle = e
n
1. Determine each of the following for a regular 18-gon.
a. Sum of the interior angles. b. Measurement of one interior angle.
(30 -16 = 2F%0° QT0 _ 1/ A
1'% =
c. Sum of the exterior angles. d. Measurement of one exterior angle.
| 3 CJ O ’ ;3%__ - :2\_/ e

2. Name the regular polygon which has each interior angle equal to 140°
[90(n-2) _ oo
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3. Each exterior angle of a regular polygon measures 24°. Find the sum of the interior angles of
that polygon.

ficel

o

= (5§ sides

[FO(15-2) —.



4. Find the missing variable in each of the polygons below.

a.  Regular Polygon b.
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Use the shapes to answer the following questions.
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5 x= 53 B

(x + 50)°
6. meA=__ S 3°
: (x + 45)°
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11. Use the thombus RHOM to find the value of x, y, and z.
x= 60°
y=_10
z=_30°

Use parallelogram ABCD to answer questions 12-14.
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B C 140 (2x—10);
12. AB isparallelto_C0] . 1140
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13. Bc= AR . o
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2% 1O + Ix = 1O
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Use rectangle DEFG to answer 15-17.
15. If ZDGW =5x+30 and ZFGE =x,x=_ [0 _and mepow=_ 30O .
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16. If DF =4x+12 and GW =x+8,thenx= Q . NS
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17. Find the missing variables in the kite below if the perimeter is 38.
Az +2% = 3%
22 =10
z =5 5
x=(dJ
X= 360-102-103-33 y=_(0J°
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For 18-21, figure LKJH is an isosceles trapezoid with midsegment RS.
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18, If LK =30 and HJ =42 then RS= SC .
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20. Find all of the missing angles in the trapezoid below.
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Solve for each of the following.

23. square QRST 24. rectangle ABCD
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24. ABCD is a parallelogram. If m£DAB =110°, find mZADC.
Me /4[/( = (90— 1lD ‘_‘
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25. Find the value of x and y in the kite below.

460 " 7/ s /70-70—‘(6 = L{L{

: 1Y =

, X = (90 - q0-29 = €6

26. Find the values of a and b.

b 222190 Sat3+675/10
b=5% Sat70 =190
Sa = (10

27.  CUBS is a thombus with a perimeter of 20, SU = 8 and WB =3. Find the perimeter of

ACWU .
PCr:me/ff o(’Aauu = 3#4/45:

5
78.  ABCD is a rhombus with mzDEC = (5x +}4)°, AC=16, and BD = 30. Find x and the

perimeter of the rhombus.
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Use the parallelogram below to answer questions

Use AH(('V\,;!{" [nfer oy Afsfp.;

(90 -5%-2%=929
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30.

33 1%0 -99 = 9!

m/MIK = _é_i_o__

29.
2% X 0. mori= 77" @
I 3. m/RKE= O3
3. meki= 62’
3. momrE= O

Fill in the blank with TRUE or FALSE.
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. The opposite angles of a trapezoid are supplementary. on | y for sosceles

If a parallelogram has perpendicular diagonals, then it is a rhombus.
If a quadrilateral is a square, then it has four right angles.
If a quadrilateral has four right angles, then itis a square. Cov [d be (Cofang/f

If the diagonals of a parallelogram are congruent and perpendicular, then the

parallelogram is a square.

. If a parallelogram has congruent diagonals, then it is a rectangle.

. If a quadrilateral is a rectangle, then it has four right angles.

. All squares are rectangles.

. All rectangles are squares. MO7T £ all 4 5.des qureat Congrvent
. All rectangles are parallelograms.

. All parallelograms are rectangles. Cov/d be just a perallelogram or yhomée=

o

trapezo’ds

The opposite angles of an isosceles trapezoid are supplementary.



